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10.

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS
You will be supplied with this question bookIet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you shall check whether
all the questions are printed serially and ensure that there are no blank pages in the question booklet. If

- any defect is noticed in the question booklet, it shall be reported to the invigilator within the

first 10 minutes and get it replaced with a ‘complete question = booklet.
If the defect is reported after the commencement of the examination, it w111 not be replaced.
Answer all the questions. All the questions carry equal marks.

You must write your register number in the space provided on the top right side of this page. Do not
write anything else on the question booklet.

An answer sheet will be supplied to you separately by the room invigilator to shade the answers.
Instructions regarding filling of answers etc.. which are to be followed mandatorily. are provided in the
answer sheet and in the memorandum of admission (Hall Ticket).

You shall write and shade your question booklet number in the space provided on page one of the
answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the
question booklet number, your answer sheet will be invalidated. S

Each question comprises of five responses (answers) : i.e. (A), (B), (C), (D) and (E). You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.
If you feel that there are more than one correct answer, shade the one which you consider the best.
If you do not know the answer, you have to mandatorily shade (E). In any case, choose. ONLY
ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.

After the examination. you must hand over your answer sheet to: the invigilator. You are allowed to
take the guestion booklet with _vou only after the examination is over. :

You should not make any marking in the question booklet except in the sheets before the
last page of the question booklet which can be used for rough work This should be strictly
adhered to.

Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion. ;
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S The metaeematlc changes are also termed as s
| (A) Kaolinisation ": = : (Bﬁ'elsenmg
(C) Dolomitization s | (D) Granulatlon :

(E) Answer net-known

The development of tectonic is. w1despread in ——— . : m'etamorphism'. I
: (Aw)ynamothermal a0 ol Plutonic :
- {C) Cataclastlc s . . Y .(D)_ 'PYrocl_astic :

' (E) Answer not known

The Chief 'ehe'mically active fluid :in_ Imet_amorph'sm is’
(A) ‘Carbon diox_ide : (B%Nater
(© Boricacid . (D) Hydrofluoric acid

- (B) Answernotknown

._Co_n_si-der the foliowing pairs :

e .Argjllaceous lime stone 2 —  Pure lime stone
I, “Rankar- . . '~ . . ° .o Carbonate material
i ~ Lithographic lime stone - = Lime stohe contain clay

WEich pair is correct?
A) TIonly s e Land T
- (©) TII only e = . (DY'1I only

(E) Ans_wef not known

Which clay have hlgh alumma and plasticity?

(A,)__. thina Clay 0 _ (B) Flre clay
(Cﬁottery clay e Sk (D) Tillite
(E)_ ~Answer not known_. = -
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6. Medium sand grain size measured between
. _ iy " _ - - : .
Ay 2 mm apd Emm (B) : .mm gnd - mm
Ml 1 _ i T ' ol
. (C Emmandz mm : (D) lmmandEmm _

(E) | Answer not known

5 Argillaceous ro.cks_are made up of _
(A) Sandgrade = ~ (B) Sand andsilt
 (Cng Clay particles - (D) Boulders

(E) Answer not knbwn

i Antigenic deposits are > :
(AN Formed on the spot : (B) Originated elsewhere
(C) _[.)_ei_:'rital R i : (D) Originated everywhere '
(E)  Answer not .kn-oWn ' '

9. Quartz is almost the only component in :
(A) Metaquartzites . Mrthoquartzite's

(C) Quartzose sand stones (D) Quartzarenite

(E) Answer not known - :

10. The p;rocess whereby foreign rock — material, e_ither'in liquid or solid form, is
incorporated within the magma is known as

(A A’ssi;nil_ation' : S ' : ' (B) _Différent_iation
(C) Segregation : _ (D) Crystallization
(E) Answer not known Gl A
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11,

12

13,

14,

15.

—, and — are felsic minerals.

(A) Quartz,_ Albite, Hypersthene

(B) Quartz, Albite, Hornblende

(Cw'uartz Orthoclase, Leucite

(D) Quartz, Orthoclase Ohvme

(E) Answer not known

Crystals better developed in two spat1al d1rect1on than in the th1rd may be referred

to as
- . (A)  Irregular ; KB Elongated
'(cy./rabular : Sigen | ' (D) Prismatic

E) Answer not known

The Rocks purely made of glass are called by special term known as

A) _' Bostomte e : E - Mmdtan

(C) Tonalite . : i (D) Traehyte_' :

(E) - Answer not known

- Plagroclase becomes the predommant feldspar in nephelme and bearmg rock then it

s called =K _
A Tesch-enite'_ A Merahte '

©) Wordmurkite-- : | . D) .Pulaek1te
(E) _-Ahswer not known ' '

: The texture 11'1 whrch large crystals enveloped in a groundmase is called as

(A) P01k111t1c s | et ~ (BWPorphyritic
@) WOhlunc - U ) Divective

(® __ Answer not known

s - . AGUG/2021
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| = 16..  Which among the followmg 18 not a structure in folded reg10ns"
(A) Phacolith : (B) Bathohth : _
(Maccolﬂ:h = Ut (D)__ Cho'nohth_ _

(E) Answer not known-

i When al bedding' or foliefien pi'esent in tlle ceunt'ry rock is squeezed by a lnagma to
gwe rise to parallel or essent1a11y rock mass to the intruding pluton is called

() Xenoliths ' ~ (B) Laccoliths
o\ Diapir (D) Phacoliths
(E) A.nswer-. not"kl‘lown ' :

18. (Fe, Ti)2 O3 refers to | =
(A) Apatite ~ (B) Sphere

-(Cﬁlmenite a4 m S -~ . (D) Zircon

(E) Answer not known

19.  Viscosity is a measure of the resistance to flow of a liquid ; more viscous liquids are :
(A) Solid Iimmedi‘ately SR ~ (B) - Vapourised |
(C) Fastmobile Te (Mess mobile

(E) .Ans_w.er' not known

20. - Quartz cannot co- ex1st w1th_-_ - e
- (A) Blomte o ; -Mlivi_ne
) Homblende s TV AN Augite

(E) Answer not known |



91

29.

e

. 24.- :

- 25,

The oldest -bed occupy at the base and 'eve:ry upper layér will be younger ‘in '

geological age in ascending order. Such'a sequence is uninterrupted in its deposition =

. 1s known as
(A) Angular ﬁriconformify
(B) Disconformity

~ (Cyng Conformable

- (D) Unconformity _
- (E) Answer not known

Joints which are developed perpen_dicular to the fold axis_aire called

(A) Released .jbin_ts : i ~ (B) Tension joints _

(€Y Shelwiomty oo '(_Dw;ctension joints

(E) Answer not known

The columnar joints are seen in _ _

" (A) Sandstone . £ | (B) Hypabyssal rock
) Cpmite e hyolite

' (E)_ 'Answer not khown T :

J oiniﬁs which are parallel to the strike of the bedding of a sedimentary rock =

- (ANStrikejoints - (B Dip joints
(C) ‘Parallel joints. = 4 (D) Bedding joints
- (E) - Answer not known g '

il

The ripple.s which -zire_ symmetrical, consist of broad-i_:roughs and sharp crests are -
named as e mERSE TR : : e

_(A‘)K)sciuatioh ripples ~ (B) Current ripples

(©) Boxfold ' : S5 (D) Fan fold
(E) -'Answer-l__lo_t known : G
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3 A fo.ld is one which both limbs .are overturned.
A Chevron - = '
(B) Box
oFan
O Mono.dine
(E) Answei' net known

27.  On the basis of inter- 11mb angle how many folds have been clasmﬁed‘?
(A) Five - = (B Four
@5 Theee = L (D) Two

(E) Anew_er not known

28.  Most common angle of normal fault is A
(A) - 30°to45° = (B) 60° to horizontal
(c;/;so to vertical (D) 0°to 180°

- (B _A_nswer not known

29, An entire orogenic belt may showa sharn bend, which is called -
= (A) = Anticlinorium ; (B)-' Synclinorium'
2 (CWrocline. e o (D). Homocline

(E) Answer not known .

30. Inan “Asymmetrieail fold”,
1. The axial plane is inclined

II.  The two limbs d1p in the oppos1te direction at different angles
(A/tatements () and (II) are correct

(B) Statement (I) i is correct and Statement (II) 18 1nc0rrect

(C) Statement (I) is incorrect and Statement (II) is correct
S D) - Statements @ an& (IT) are incorrect:
- (E)'. Answer not known s |
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31.

32.

- 33.

34,

35,

Which of the followihjg is incorrectly_paired?

(A) Hawaiian —  Mild eruption

(B) -Si:rom_bo_lien —  Violent eruption

(C) Pelean —  Violent explosion
D) Plinian —  Most violent explosion

E) Answer not known

The elastic rebound theory is postulated by _
(Aﬁeui o ; _ (B) Wegner

M) MaxPlanck - v (D) Hooke

E) Answer not known :

~ Non tectonic earthquakes do not occur due .

A) Avalanches S E  (B) Huge Waterfalls _
(CV Cyclone B o -+~ (D) Dams and reservoirs

" (E) Answer not known

The loop-like channels are called,

(AN Meanders

(B) Ox-Bow lakes - .

' (C) Chutes

(D) None of these
E) Answer not known

More or lesé circular coral reefs enclosing a lagoon, is known as, '
- (A) - Spits e S (B) Bars

(C) Barrierreef = (Mt'on |

(E) = Answer not known

9 - AGUG/2021
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36. Consider the followmg statements

Assertion (A) :  Karrenis a landform and it develops on limestone terrain |

Reason (B) : The land form develops due to Chemmal weathermg

(A) oth (A) and (B) are true and (B) is the reason for (A)

' B Both (A) and (B) are true, (B) is not the correct reason for (A)
{C) ' (A) is true but (B)is false '
(D) Both (A) and (B) are false

: _(E)_ Answer not known

o '37.  Identify the mineral in the blank space of the eq'uat.ion '

4 Orthoclase + Carbonic acid - ————— + pot Carhonate + S1l1ca
., s = ' (Mﬂohmte
(C) Montmorillonite . . (D) Halloysite

(E) Answer not known

38 When a depresemn 18 created by deﬂatzon then the term used is
(AV__SlaCk. s % (B) Oasis :
(C) Yardangs Sen s : (D) Ventifacts
(E) Answer not known e :

89 — planet has the largest number of moons and moonlets in the solar
(A Satum = - % ~ (B) Uranus - _'
(Muplter L Tl e (D) _Neptuné ‘

(E) Answer not known

40. '._Planete'simals are ha-sica_lly A
@A SemiSolid (B Solid
: (Mases and vapours o T (D)' Gases and solids
E)  Answer not known o el
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42

43

(A) Thermal
! (B)_ Colour Infrared

_ Gramtlc terrain can be recogmzed in the aerial photos by means of
e type of drainage pattern

- sensors are used to ﬁnd out the oil spllls

(Cw ltravmlet and mlcrowave

D) Bismiatric.
E) Answel_' not known

: What is the name of first satellite launched by_‘I_ndia" -

A) - :-Bhaskara—:_[- - S — 2 (Bwryabhata
(C) Rohini e - D) I‘\TSAT—LA -

| (E) Answer not known

(A) Rectangular . '(B)..R'adi_al_-_.

(3 Dendritic and sickle shaped . '_(D) Annual

| (B Answer not known

44.

45.

Avalanches are mass movements of whlch of the followmg class‘? :

oAy Slow Flowage (Mapld Flowage_ 7
s £ 3) _Shdmg ' : i . (D) Subsadence

- (E) Answer not known

The blocks of rocks of varymg size suddenly crashmg downwards from chff along'
steep slop is called

(4 Rock slide e i (B?AOCk fall

.(C.)_ D__ebrls slide - = Eart__h-ﬂow
: ('E) Answer not known’ ' o

- ANReRY
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46 _The Jawahar Tunnel pass through : rooks. :
.(A FlLavas, Slates and Limestones . .
- (B) Gneiss, ‘Limestone and Shales
(©) SahdSto'ne, Shale and Grén_ite_ |
) . : Granite, Schist and Sandstones
(E) Answer not known

- 47. InaDam 'near the top to let off exeess water of the reservoir to the downstream side

is called : _
(A). Slu1ce B | s o (B) Cut-oﬁ' wall
3 (Mpl]lwa_y' 2 ' (D) 'Diversion tunnel

(E) Answer not known

-

48.  In soft rock, hydrauhc rotary method is su1tab1e for
. (& 50-100mdepth . ®W100— 150 m depth
© 200-300mdepth - (D) 500-600mdepth
_(B) ..Answer.not_ known i ' |

49. Groutmg may be descr1bed as

: (A)/he injection of suitable matenal into the earth’s crust to seal any open

fissures
(B) A process of determlnmg the coefficient or-water saturatlon of a material

() A process of lining of tunnel to support the pressure exerted by the matenal in -

-whmh the tunnel is exerted
(D)' ‘None of the above
~(E) Answer not known
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- 50. -

B

52.

53.

54.

The crushing strengl:h of dolente is
(AMOOO tons per square feet

- (B) 600 tons per square feet
- (C). 700 tons per square feet '

D) 400 tons per square feet - |
(E) Answer not known

The Neyveli lignite b.ellongé to — formations.

"_(A)I Cretaceous : (B) Jurrasic

(C) Cambrian = -Mertiary

_(E)__ Answe'_f not known

“The Neyveh lignite seams are interbedded with the
(A) Limestones '_ i ~ (B) Clay

- fSandstone (©) Shale
. (E) Answer not kn'o'w”n" e :

The occurrence of lignite in Gujarat is in _
(A) Ahmedabad = b e B) Jais'aliner _
(CV Kutch : - (D) .Baramulla_ 3

(E) Answer not known i

: Composmon of the mmeral pyrolusﬂ:e is

@A) MngOHO | - (B). Mn,0,

L ome .  mgo,

(E) Answer not known

e e AGUG/2021
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55. Mechanical concentration by river water - _ _
: (A) Eolian Placer SL TR ' (B 'Eluvial Placer
: -'-(O;/Alluv_iaI Placer - (D) Beach Placer
(E) Answer not known Sl e . -

'56. - Dissemination ores are characterised by
(A -_epper—and-_salt texture
B) Colloform texture
(C) Porphyritic texture -
(D) Coarse texture -
(E) Answer not known

57. Match the followings : _ _
= _ Zone S : gl Sulphide- typé
(a) ‘Zone of oxidation ' Chalcopyrite

(b) - Zone of secondary enrichment o Native copper

R

| (¢) Zone of primary ore : Cox%’e_llite
(d) Level of Oécillatihg wat&er' Malachite-
@@ ® © @
A 2 SR 1
B 3 1 2
C 1 3 o 2
D) 3 1 e
(E) Answer not, known
58.  Diamond in kimberlite is present as —— - nature
A Begmmat: 0 B Tl
(© Dilted  @yfDisseminated

(E) Answer not knbwn
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. 59,

‘The ore deposits formed at the end of magmatic d1£ferent1atlon are termed as =

(A) Ortho tectic deposits
B) _Ortho_ magmatic deposits *

(C©) Metasomatic deposit.

¥ Hydrothermal deposit -

= (E)  Answer not known

- 60.

61.

62. -

63.

Hardness of Tourmahne 1is between

A 1075 o '(B)-.6.5__7.o

© 7.5-80 - oy 80 88

: - (E) | Answer not known -

Chlorophahte is formed by

(A A chromlte formed by the alteratlon of quartz
B) A kaohmte formed by the alteration of feldspar i

: (OV A chlorite formed by the alteration of volcamc glass

(D) - A zircon formed by the alteration of quartz _

(E) Answer not known

amosn:e

_ The iron _rich'varie_ty_ of chlorite, that is comm only found in sedlmentaly iron ores is

(A) Prehnite o -
() Apophyllite (D) Arfred sonite

" (E) Answer not known

Zircon and Q_uartz usually occur as |
(AN Unaltered minerals  (B) Altered mi_ner_al's: _
(C) Insoluble minerals e Soluble minerals

(E) Answer not known

. ' AGUG/2021
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64. : A_soda;r__ich '-basal_tic type in which albite or 'albite-o'li_gocl'ase is the predominatmg

Feldspar e ey
(A)  Oceanite’ (By/spﬂite
(0). Angbite o0 0 oo iB) Tackylite

(E) Answer not known

65. Match the following :

(a) Quartz
(b) ~ Tridymite

Orthorhombic
‘Hydrous silica

W N

(c) - Crystotalite Tetragonal
(d) Opal Trigonal
a) (b © (D
anrs. 13 2
@) de g g
(Cy 4 S B
M 3 g g

(E) Answer not known :

66.  Select the correct extinction for Quartz from the follow:ing _
- (A)  Straight extinction - : (B) Inclined extinction
(C) Symmetrical extinction Vavy extinction -

(E) Answer not known

~ 67. The sign of the ordlnary ray and extra ordinary in optlcal :rn1ne1 alogy is.-
QA Ordmary ray 1s optlcally () Negative extraordinary optmally (+)ve posﬂ:we
B) Ordinary ray 1s optlcally (+) Positive extraordinary ray is optlcally (+) positive

(C) Ordinary ray is 0pt1ca]ly =) Negatwe and extraordmary ray is optically
- (-) Negative

: (IM)rdmary ray is optlcally (+) Posmve and extraordmary ray 18 optlcally'
() Negatlve : .

(E) Answer not known
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68,

69,

70.

79.

Ident1fy the Non Slhcate minerals arranged below in correct pair

-_ : (Aw)mdes hydrox1des Carbonates, Sulphides, Sulphates

(B) - .Hydrox1de Quartz, Feldspar, Mica, Garnet
'(C)_‘ - Carbonates, Mica, Garnet Spinel, Feldspar : _
(D) __-__Sulpludes Sulphates Olivine, Fayalhte Forsterite

(E) Answer not known 1

Property of Fluoroscence is

' (Aw& few minerals have: the property of glowmg or emlttmg llght when they are

exposed to radiation

s LBE Minerals behave dlfferently on heatmg to elevated temperature
(O The light is emitted by mineral not. during the act of exposure to rad1at1on

(D) Some minerals an electric charge may be developed by heating
(E) Answer not known '

" Hardness of a mmeral 18 greater when i

(AMhe atoms or ions are smaller

(B) the valency is smaller

(C) the packing density is lesser
(D) the specific gravity is greater
@) Answer not known

- Twin crystals often appear to consmt crystals symmetncally united, the individual

crystals will be in the order of | .

(A) Five or more crystals (B) Four or more crysta_ls
(C) ‘Three or more crystals _ (DyMwo or more crystals
(E) Answer not knowp S ' ' :

Acc‘ordi-ng to: i law octahedral _face 1s the Twinning Plane.
' -'(A_x/s'p'_inel_ © = (B Rutile '
(C) Japanese S ' 8 D) _Bra_zillian

a (E) Answer not known

17 Z= - AGUG/2021
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93 P1ck out the odd pair.

' (A) a ax1s - brachy axis

. (BN prlf%m pyrarmds

: ©) b axis - macro axis"
(D) caxis— vertical axis :

(E) Answer ndt'kl_m'wn _

g4, The dnly symme‘tr_y element eXhibitéd_.by Axiriite'crystal 18

' ; (AWeﬁtfe of. Symmetry . - (B) Plane of Symmetry
(©) Axis of'Syfnmé'try _ Al (D) Pseudo symmetry

~ (E) Answer not known - : e -

75.  The normal interfacial angle of two ad;acent tetrahedral faces is -
(A),/fogf’ 28' 16" (B 90°0'00" |
© ersE4st . . (D) 100044

~ (E) . Answer not known

- 76. - Find out the correct pair.

" (A) Beryl - Isometric Normal
(B) : Beryl — Monoclinic Normal
: (CV Beryl = Hexagonal Normal
D) Be'ry-ll-—- Orthorhombic Normal

- (E) Answer not known

-77. . The type mineral for _the. Normal Class of Tetragonal system 15 |
(A) Hornblende : ' (B) Tourmalme
(C) Galena o 90 i ircon '

(E) Answer not known -
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78

- 80.

e .

‘How many classes are '_classiﬁed in crystallography?

e - e (B')/.szﬂ

£ s o e

(E) ~ Answer nOf known

‘Miller indices for hexoctahedron crystal is -

anfesy. e ey

aaEe

= (E)  Answer ﬁot.knowr.l '

- How many faces are there in Trapezohedron (h11)

. W i v

(©) 4-59 g - D) 32

= (E) Answer not known

__The‘s-hells of foraniinifera are .

(A)  Unichambered

(B) Multichambered
(Moth 'Unichamber_e'd- and Multichambered

(D) None of the above

- 82

. (E) Answer not known

:The first formed Chamber in foraminifera shell is called' as
g (A) Protoconch . = s S . - (B) Conch _
: (Mro’lodulus; ¢ | Ly Palacoconch -

(E) . An__swer' not known.

19
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83.  Which of the followmg 1s correctly matched?

1.  Productuss = - Ordov101an

1L Orthis - — Carbonif_eroué
ITI. - Rhyconella - — Jurassic

IV. Terebr_a.tula A .T_rias'si.c'_

e ' ®) I

(0-)/111 | s e

E) Answe'r not known

84. In compound Corals, the skeleton of each individu_al members of a colony is

known as
| (A)_ Theca - . ~ (BW Corallite
- (C) - Ep1theca Sl (D) Calyx

(E) Answer not known

85. - Hydrozoans are comﬁidn- gE :
(A) - Fresh water o _ (BAIar-ine
(C) Wet lands ' & . oo (D). Hyper saline
(E) Answer B0t known ARSI

86. When the early part of the Ammonmd shell is coiled and 1ts later part is in the form'_ .
: - of Hook or curve, it 18 termed as

; (A) Lituitic cone
(BN Baculitic coné
' (C) Gyrocera cone
' (D) Gyroceratic cone

'(E_)  Answer not known
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87.

88. .

89,

90.

91.

The foss1ls of Graptohtes are preserved as a film of o T rattan

= (A_) S111ceous :
' (B) Phosphatic

(CVCarbonaceoas

(D) Both siliceous and Phosphatlc
(E) Answer not known '

Enbryonlc part of graptohte colony 18 =
(A) Nema _ e (BW¥ Sicula .
(C) Autothica " (D) Virgella

(E) _Answer not known

“Which of the foliowing conditions influence preservation? -

(A) . Geogra]o'hiceon.dition : - (B) Topographic condition'_'

(©)  Climatic condition DS '(Mﬂ of the above
- (E) . Answer not known i e

Fos_si_ls' of life discovered from limestone formation at great heights of
Himalayas. % _ _ ' '

'(Awf[arine L= a0 S Bl

o Yad o e S O el

(B .Ansrver'not known

Complete dlssolutlon of orlgmal shell and depos1t some other substance in 1ts pIace o
is known as

(A)ﬁ’etrlfactmn | S Ifnpr_egr;'ation -

_(_C)' Distillation =% o At Leaching

. (E) Answer rrot known

- L e AR
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92. An_th'raéite variety of coal is available in
. (A) Cuddapah system - :
B) Vindhyan system
(C flondwana system
(D) Aravalli system
(E) . Answer not known

'93.  The yOﬁngest elements of the Precambrian Basement of the Dharwar region are
' ~ knownas e e o =
i -(A) ‘Sargur S'ch.'is_t
(BWlosepet Granite
(C) Peninsular Gneissic complex
(D) Bundelkhand Gneiss
(E) Answer not known

'94.- The Delhi system is intruded by Sy
; (A)  Jalor granite T ~ (B) Idar granite
SR _Malani'granite ) i rinpura granite

(E) Answer not known

95. The most common rock of the _upper'Vindhyan i8
A Shale .. - - | . (B) Limestone .
_(CWanst_one : S (D) Gneiss
(E) Answer not known ' :

96.  The thickness of lower.Vindhy'ans -group is ‘
ey deabm s e ) B
CpMosom = 7 . @) 2000m

- (E) Answer not known

AGUG/2021 e L | S L



_-_97;-

98.

99.

100.

Half-Life period of U ig

(A)  7.675 x 10° years

(B) 5.89 x 109.yea'r_s

(CMLABS x 109 years
(D) - 5.678 x 109 years

Al AIiSwer not .known '

Estabhshmg equwalence in rock formatmns with regald to thelr geologmal age 15 E

: termed as’
(A) . Compari-s_on A . S (BW Correlation
(C)-. Homotaxis e (D) 'Nomencl-ature '

(E) : _Answer' not known

_.Fmd out the system which is not gr ouped under TERTIARY
- (A) Phocene S : : Sl Mlocene :
'(Cﬁermmn ' _ : (D) .Eoce_ne_ =

'(_E) - Answer not known

- -Fundarnental concept of hlstorlcal geology is

(A) L1th1flcatlon

- BWCorrelation

R Sedimeﬁ_tation

(D) Deposition

(E) _Ané.wer not known -

23
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101. : mmerals are able to assert thelr proper crystallme form gven agalnst
the resistance of a solid medium.

(A) Crystalloblastic sy : '(BAliobiaetic _

(C) Xenoblastic ' : O) Palimp_s'e"st
(E) Answer not known" _ ; ;

102. The rock with alkali feldspar 4 plagloclase ¥ biotite + hornblende mlneral
composition 1s

(A) Granuhtes. 2 i Amphlbohtes
Ly ‘Greenstone O (Mharnochlte
(E) Answer not known - | Gets

~ 103. -The Augen structure is produced due to ————— metamorphism.
(A) Regressive i o Catacla_stic_

{(O) _Régiﬂnal e : '(D) Dynamo-thermal
(E) ' Answer not known BT RS

'104. Which is high temperature zone in metamorphism? _
' &y Episeme - - T - (B) Mesozone .
: (CM{ata Zone o - (D) Isograd zone

(E)  Answer not known

105, _ - and : " are the examples'for Anti-stress minerals.
(A) Chlorite and Kyanite - s (B/Olivine and Andalusite

(C) Talcand 'Muscqvite ' (D) Hornblende and Quartz
(E) Answer not known "

106. Maculose structure is typlcally developed in argillaceous rocks under
(A Cataclastlc_ metamorphism ~ (B) Plutonic metamorphlsm
(C hermal metamorphism- (D) Metasomatism

(E) Answer not known
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107.

108.

109.

110.

isa rock of earthy and clay like w1th Oolitic and Pllohtlc structures =

- (A) - Laterite _ _ (Bﬁawﬂte

(C) Regolith = Y Terrs.Rosen

(E) Answer not known

— 1S a whlte kaohmte mixed with fragments of quartz feldspar and m1ca
G Elte © o B Fire clay

(CWfhinaclay (D) Mal

(E)'_ Answer not known

Which is Argillaceous limestone? :
() Chalk A T e Bl

(©  Pelagic limestone  owMar
(E) Answer not known 2

Sorting 'o_f particles is best in ' __ sediments.

(&) Fluvial S e e

(Meaeh ' : | (D) Loess

111

112,

(E) Answer not known

Among the fo’ll’ow-ing, shale have both clastic and non-clastic sources.

QA Transported shale e - (B). Residual shale

(Ch\g” Hybrid shale (D) Chloritic shale

(E) Answer not kno_wn

The grain size of silt deposits are : :
AN 0.1 mm t0 0.0l mm . ®B) 1mmto0.1 mm
() Zmmtolmm - (D) 0.5mm to 0.25 mm

(E) Answer not known

. . AGUG/2021
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113.  Norite is a Gabbrmc rock in Wthh

_ (AM)PX > CPX

O
®)

. OPX = CPX

- Answer not known

(B) OPX < CPX
(Dy OPX absent

114.  Match the following volcanic rock equivalent for plutonic :

(@

©
(d)

(A)

(B_) _'

(!
(D)

- Sye nite

Diorite -

Grano diorite

Granite .

- W
) 3 1
= 4 2
9 1
gt 8

Answer not known

@

B

1
2
-
4

; Dac_it_e_ _
Andesite
Rhyolite

_ 'T.rachy.té :

115,  Which of the followmg mineral is low sﬂmatlon mineral?

: (Aﬁmtlte

(©
)

Auglte =

Answer not known _

B Orl:hoclase
D) Ho'r_nble_nde

116.  Soda rich basaltic fype% are called on

'(A/plhte

©)
®

Rhyohte

Answer not known

- AGUG/2021 -

(B) Andesite
(D) Phonolite =
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117. .

A variety of equigranular texture is

(A) Porphyritic : (B Panidiomofphlc |

(C)  Poikilitic Vs Dy Opitie

. - Answer not k_nowri- |

118,

S A%

The holocrystalhne texture 18 characterlstlc of o

(A) Volcamc 1gneous 1ocks
(B) Hypabyssal igneous 1ocks
(CWIutomc igneous rocks

(D) Volcanic lavas

(E) Answer not known

‘Textures which are produced by flow in magma durmg thenr crystalhsatmn are

called : :
' (A)  Granular texture - : - (B) Intergranular texture
(C) Optitic te'xt_.ure '_ 7 (erectwe texture :

" (B) Answer not known

Sri
.' . (AWomnas ¢ U e 2By Kelyph1t1c borders
(C)  Myrmekite _ = M) Enclaves '

ey

Reactmn rims produced by prlmary ‘magmatic reactmn is. called as

(E) Answer not known

e 18 a form of igneous mtrusmn in unfolded regmn
(A) Phacolith (B Batholith
€ Chowolich = 0 0 o - (Da@Laccolith

(E) . Answer not known

N . AGUG021
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122. Match the following :
(a) Comprese_ive stress strain .
(b) | Tensﬂe s‘tress.: normal component push apart
(0 Shear
(d) Distortion'

'normal component push together

o

tangentxal component

e @
A 1 :

: 2 3 4
a4t 7. g4
©) 4 1 S
o a1

() Answer not known

123. The distance between the successive crest is called
(A) - Ax1a1‘p1ane - S B) Amphtude
(CWave length s : = (D) Plunge

- (B) Answer not known

124. In geology, a compressmn 18 treated as
(AMPOSltlve 3 e - (B) Negative
(C) Neutral ' (D) Couple
(E) Ansvﬁ'rer. not kn’own' | | ;

125. In a overturned beds the top of beds can be 1dent1f1ed by usmg

structure.
(A) _Faulte S S T Stalactlte and stalagm1te
: > ; THEQ
LA Pillow structure : (D) Orbicular PLACE%E:EESTR‘EAFHDEJ:\EI;SI;\E’:TR égrﬁ;?r?EE

_ _ . FOR FINAL DECISION.
(E) Answer not known HaCsaall wpmi aller S5 @y alpsrs
: = ' aldgipr gallar gpar wadsiu o dagy.
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196

127 _A fold characterised by well deﬁned sharp hlnge point is called |

@A) C_en]ugate fold - i e (Mhevran fold .
(C) Cuspate fold 20 (D) Cyhndrlcal-fold

128.

128

130.

The thruet faults in whlch the foot wall has been the actlve element
A) Down thrust : '_ =i (B} Over thrust

(©) ._Up thrust_ z i ( nder thrust

E) ~ Answer not ki_iown_ =

(E)  Answer not known

.Ph‘mging fold ie A

(A)  Fold with fold axis horizontal

~ (B) Fold with fold axis only vertical

(O Fold with fold axis inclined

- (D) Thisis not a_type of fold

(E).  Answer not known

The strata that dip in one d1rect10n at a relatlvely umform angle 8

(A) Kink bands : . . (B) Isoclinal folds

'(C') Fan fold e it (Iwomochne

(E) Answer not known

In a recumbent fold, the axial plane is

(A) Vertical = (M{erizontal

. .(C) Both horlzontal and vertlcal @) Inclined

(E) Answer not known
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132.

133.

134.

“Folds of continental proportions are -

A Tens of miles wide - (B%undréds of mil_es wide
(C) Thousandsof mileswide ¢ = (D) Millions of miles wide =

(E) Ansv&er not known

Fold that has -younger rocks in the cenfre is called as -

(e Syncline Coaw @ Adkifline.

@ Tmh (D) Crest

(E) Answe‘r ﬁot known

A pyramid-shaped peak formed by glacial erosion is a

(A) TFiord " S e

(C) Medial mo_i_'aine : . 2 [orn

(E) Answer not known

Which one is not a transform plate boundary? :

2 (A)\A_ubduction Zone

135.

B Ridge-Trench margin

(©) Ridge-R_idge' margin -

D) Tre-nch-Tfench-margjn '

‘(E)  Answer not known Sae

Solidiﬁed.p-yroclast_i‘c debris on gi'ound are called as

(A) Tephra : . (B) Lapilli

(O§/Tuﬁ". S : s (D) Pumice =

(E) Answer not foon
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136.

Consider the following statements :

S _A_sser_tion A) : Stack and Hook are erosional features of sea

137.

138.

139.

___ReaSon (B i They develop and withstand due to some resistant rocks

-~ (A) Both (A) and (B) are true (B) is correct reason for (A)

(B)  Both (A) and (B) are true (B) is not correct reason for (A)

. '('C)_ (A) is true (B) is false

Both (A) and (B) are false

(E) Answer not known

. The removal of partlcles of dust and sand by strong w1nds is called

_ (A) Abrasion 5 ' oy Depletmn

(Cw)_eﬂatlon e e S el (D)_ Aeration

(E) AnsWer not _known_ 5

The dramage pattern that develops upon umform resistant rocks and implies lack of
structural control is known as ' :

(A) Rectangular : (B) Balbed

- (C).-i TreHi’s:.' ' _ : ( endrltlc :

: (E) Answer not known

Water draped in fractures expands by 9 0% in volume when freezes, thus exertlng_
pressure to the walls and w1den1ng the fracture results in the d1s1ntegrat1on of the

rock. Thls phenomenon is known as

(A) Exfoliation
(B) Root wedgmg
(erost wedging

(D) Oxidation
(E) Answer not k_nown "

g  AGUG/2021
e [Turn over



140,

141.

142,

143.

el

Half-life period of carbon-14 is

@wf5rs0years (B) 5250years :
(C) 6520 years ; : = (D) 6340 years

(E) Answer not known

- What will be t_hé temperature at the top of the mantle?

A) around 4000°C B) around 2000° C
(C) around 1560° C = e round 870° C

(E) Answer not known

Nebular hypothesis on origin of earth 1s an improved one of hypo'thes.is proposed by
(A) Sir William Her sche]l (B) Laplace |
(Cﬁ{ant ey _ ) _ - (D). Sir James Jeans..

| (E’) - Answer not known

Which planet is characterlzed with a retrograde spin?

(AWenus _ > : : (B) _Th_e Barth

HO Mars o ' 3 - (D) Mercury

(E) Answer not knofov:_n

The expansipn of TRSS' 18

(A) Indian Rare Sensing _
(Bwndian: Remote Sensing Satellite' '

(©) Indlan Meteorologmal sensmg

| @ ) (A) and (C) are correct

(E) Answer not known
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145,

146.

Durmg tunnelmg, geologlcal proﬁle is prepared to know

(A) Structure of rocks

 Types of rocks

: (C Centre line of the proposed turmel

(D) Dlp and strike of the rocks
(E) Answer not known '

The 'Arch dam is best suitable _for —~ w-hich_ site?

. (A) Flatlands S .. (B) Plateaus
- (CWarrow Valleys : & e (D) Very wide vaIIeys

e

148.

149,

Answer not known

"Water" Whlch 1S on the down stream sade of the dam is known as"

(A) Reservmrwater SR |  (BWTail water

. (C)  Surface water : (D) Parched water

(E)  Answer not known -

Wthh dam in India has distincation of being the longest earth dam?

() Rihanddam =~ er_akud_ dam
(¢) Bhakra dam o (D) Sikidari dam

(B _A'nswer not known

Idukk1 daim in Kerala is an example for _ _ |
(ANAn arch dam SRt ~ (B) Butress dam
(C) Rock hill dam =i - (D) Gravity dam

(E) Answer not known
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150. Thei?rument anger -used.f.or : ._ ' _ o e
'. @) B'oring.'shallow depth = (B) Boring deep well -

(©) Morethan100f& (D) Both(®)and(C)

| (E) ~ Answer not known

151. If closed contours have '_i‘ncreaeing value away from the center, it shows a

; on map _ _ e 5
(Awepressmn — = _ ®) “Ridge
(© Hillock (D) None of the above

(E) Answernot kﬁown :

" 1_.52. - Silica sand is produced from .' . district in Tamil Nadu. .

(A%hengalpattu' — _ = 5 (B Salem :
(©) Madurai B L (D) Theni

- (E) Answer not known

153. Consider the following statement :
Assertion (A) Chrysotile”asbestes occurs in serpentinized limestone._
~ Reason ®R) ¢ Certain bands of limestone were converted to se’rpentine by

- circulatory solutlons and undergo molecular rearrangement into
'ﬁbrous form..

(&) Both (A) and (R) are false
(Bﬁoth (A) and (R) are true

(C) Ais true and (R) 1S false _
(D) (A)is false and (R) is true
(E) Answer not. known
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 154. The hardness of Mag.*-nesité_ is _
@) 4510865 L B BBto6S5
(O35 to 4.5 S ) 261385

~(E) Answer not known

155, 'Magnesite- is believed to be an alteration. ﬁroduct _df '
A Di‘oﬁté. P o Mumte
© Dblei‘ite . v Diamictite
: (B) Answer not -knoWn e .

156. The Gol‘d-'Bearir'lg 'iodes are co'nﬁr.led'to the éontécts of 0 ~ rock variei:_-ies in
| Kolar Gold field - - | - % ' | |

A Geeilees s '(B%a_p'hibplites;; |

() -Ferruginoﬁ_s Quartz_ite's T _ D) 'Conglomerate_s-

(E) Answer not known -

187, TransﬁOrt_ation of material in cd_ntact wit_h_ surface is called as
N (B) Solution
e Abrasion - £ _ ‘ SR Atbrition

(E) Answer not known

158. Common salt is formed through. . process,
A) 'Sﬂblimation- e - (BMEvaporation
©) 'D_is_seminatidn - D) _Seg're.gatibn'

- (E) 'Ansﬁfer not k_nqwn

£ g e e e
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159. ._The recrystallisation temperature of COppéf o
(A) 300°C , T BW 450°C
©) 350°C -_ e L e
(E). - Answer n_ot.kn'own 1

160. Mineral deposits that have formed simultaneous with the encldsing_rock is known as
. (A) Epigenetic deposits - B Endogenetic deposits '
. Syngenetic deposits © D) Exogen_etic. deposits

= (E) Answer not known

3L - Ba‘uk’ite 15 -forni'ed by the p_rocesé of
; (A) Mechanical _concent..ra-tion.
_(Bﬁesidual concentration .
(©) Magﬁlatic_eont:entration
(D) Sublimation

- (E) '_ Answer not known

162. Tenor of silveris = o : =
- (Aw(} Qﬁhde/Tonn‘e e e “(B) 50 Ounce/Tonne
© 75_ Ouncéa’Tol_ine- g 5 (D) 100 Ounce/Tonne

(E) AnS_Wer not known.

163. Tenor of Platinum is

(A  0.7% £ . : (B%l Qunce/Tbnne i
(C) 08% e (D) 10 Ounce/Tonne

(E) = Answer not known

 AGUG/2021 A e -



164.

165..

166.

167,

: 168._

Ch_emicé.ll' compos_ition of Pyrope is i .
(A)  Cay Al Si; 0, R ®) Mn, Al, Si, o12

) Oa Oad,0, o Mgg AL, Si; Oy,

(E) Answer not known

Feldspar atomlc structure is

(Aw«antmuous three- dnnensmnal network type
B) Discontinuous three-dimensional network type
(C) = Continuous two-dimensional network type
(D_) D1scont1nu0us two- d1mens1onal network type

- (E). Answer not known

'Flnd out the K-Feldspar mmeral

(A)  Albite AT = L By Oligoclase

(OngDrthoclase “ (D) Anorthite

(E) Answer not known e

Téktbsilicates has

(&) Chain structure - ; B) Double chain structure
(CVFrar_nework structure ' 2 (D) Single chain s_tructu_re i

(E) Answer not known

Match the f‘ollowing :

(@) Orthorhombic 1, _Heden_bergite

(b) Monoclinic 2. Bronzite

(€ Alkali 3. Pectolite |

(d) Triclinic 4. Johannsenite

s -0 @

T N S 3

e 2 4 3 1

O R .

'(m/z e g O

(E) Answer not known | ;
4 S ~ AGUG/2021
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169. - i crystals transrmt hght Wlth different velocities in dlfferent du'ectlon.

(A) Isometric i a0 (B) Isotropic
'(Mmsotroplc S (D) Garnet
(E) _Answer not kno_Wn_ : '

 170. Bereck compensator is _
(A) also known as quarter-wave plate
(B)  useful for the determination of interference colour
(C) also known as sensitive — tint plate '. .
N 2 accessory device made of calcite
(E) Answer not known '

171. The following mlcroscopes used in the study of t?m section of rocks and mmerals” _

.(A)' ‘Compound microscope - ~ (By#fPetrological mlcroscope
- (C) Reflecting microscope - (D) Binocular microscope

(E) A'nsWer nqt_know'n

172. Among the followmg, Whlch mmeral 18, havmg sﬂky luster"

U (AY. Topew - - A . (B Ziron.
-(Cstes_tos e s (D) Quartz -
(E) Answer not known — : ]

173. Which one of the following is not correctiy matched :

I.  Highly magnetic . .- Feldspars

II. Moderai_;ély‘ magnetic — Hematite

I11. Weakl_y magnetic . - Td_ilrmaline _
= AV, Non-méghetic : — Quartz :
L Tge

om0
(E)- Answer not known : _
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174.

175

176.
- (@ Macro Pinacoid g o Pindodid
(b) Brachy Pinacoid :

~ (d) Pyramids

= J T

Qs 4 1

g

- Tourmaline crystalizes in ——— class of -

Find ou.t the mcorrect pa1r P

(A F luorite 'f Gypsum
(B) Fluorite - — Garnet
(C) Fluorite - Galena
(D) Fluorite "~ Pyrite

E) A_nswer-not known

Choose,the incorrect pair. .

(Aﬁyroxene ~ — ° Pyrite :

(B) Pyroxene e _Orthoelase
- (C)  Pyroxene — Epidote
(D) Pyroxene — Gypsum

E) - Answer not known -

Match the followmg of the orthorhombm crystal system

& hkl
(¢) Basal Pinacoid 3. a-pinacoid
4.  b-pinacoid

® ® © @
0 d ol
o

S
(E) Answ_er not known

N N B N

-(AWhombohedral — Hemimorphic — Hexagonal
(B) Normal class — Hexagonal ' :

(©) Normal — Isometnc '

D) Hemlmorphlc - Orthorhombm :

- (E) - Answer not known

39

system.
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178.  All forms are _general-form' in _ : :
(A) Cubic sys‘tém i _ (B) Hexagonal sy_stém
(C) Monoclinic system o : (Mriclinic system

(E) Answer not known

179. Name of the form each of whose sixteen similar faces meets the three axes at
unequal distance 3 e ' Bt
(A) It order pyramid . ; : (B) Iind Qrde'r pyramid
(N itetragonal.pyramid 5 (D) - Prism '

(E) Answer not known

180. Choose the correct pz_{\ir.

: (A) 'Cuprite; - Gypsum
(Bwlbite' —  Anorthite

| (©) Zircon = G_arnef _.
(D) Beryl -  Borite

(E) Answer not known |

181. - Grade of symmetry of Asymmetrical class of Triclinic s’ystenﬁ :

Gpay e S B) 10
o o 5
(E) Answer not.known :
182. 'S'I.)inel law of tWinning_ is the twimiingl pléce.' :
(A) Cube face (100) = . Mctahedral face (111)
(©) Dodecahedral face ('11.0') _ (D). Tei:rahexahedr(;n (hko)

(E) Answer not known
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183.

184.

18_5.:

186.

The class Echiﬁoids are exclusi\}ely _and - forms.

(A) Fresh water and shallow 11v1ng

'(BWIar1ne and bottom dwelling
Y Terrestnal and bottom dwelling

.(D) - Lacustrine and shallow '

(E) | Answer not known

In, trilobites, the central 'segment_running from a point at or near the anterior

margin to the Posterior extremity is termed

(A Daub'lure s : - (B) Thorax

(O Pleural lobe - - Mx_-ial lobe

- (B) * Answer not known

In Trllobltes the most pr1m1t1ve suture lme 18 descrlbed as

- (A) O'phlsthopanan : Mypopanan
(O -Gonatoparian_ o : (D) Proparlan

- ® Ansv;rér not known

The teeth, sockets and other assocxated structures n pelecypoda are collectively

termed as

' @A) -Surface' Sculpture <

(B)  Shell Structure

{C) - Ostracum

S (DWentltlon

(E) Answer not known

i -‘ ~ AGUG/2021
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187. Wthh of the followmg statements are c01rect‘7’ _
. 1 : The subclasses Nautﬂmdea and Ammonmdea are grouped as Tetrabranchla
= o ~ The subclass Nautiloidea have 14 orders ' | '

III. The subclass A'nimono_idea have 4 orders

L@ Only I and II are correct
(BWH are correct :
©) Only II and III are correct
D) | Only 1 and I1I are correct
(E). Answer not known

- 188, Ca_rdita béaunﬁbnt_i is aﬁ_ Indcx fossil for e age.
@A) Upper Triassic s
B) Lower Carboniferous
ok Upper Cretaceous
(D) Lower Eocene

- (B) AﬁsWer not known

189. The calyx i ‘_the'.' depreSSion which is present in
. (A) Foraminifera | e (B) Ostracoda
 (C\ Corallite polyp : B (D) - Brachiopods

(E) Answer not known

 190. The successiize Whorls' cf gaétropoda’ lie in '.mulfual contact along a line is called
(A) Apex < - | e (B) Spire e

(C) Callus = . L (DVSu_ture .

(E) _Answcr not kiown : :
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191. Internal moulds and cast are collectively termed as
@ Trails . . : - (B) Burrow
©) Tubes s s (Mt_ei'nkerns_
(E) Answer not known S

_1_92. What‘ is the general dip for cretaceous of Trichinopoly?
(A) N-N-E to S-S-W at low angle <
M S-E at low angle
(C) N-N-E to S-S-W at high angle

‘(D) E-SEathighangle
(E) : Answer not known .

. 198 _Cuddalore sandstone generally hke unconformably over the cretaceous rocks Upper -

Gondwanas or gneisses which represent a marlne transgressmn n
(AN Mio- Phocene e (B) Lower Plelstocen_e -

: - (C) - Upper Cretaceous' = .0 Upper Gondwana |
(E). Answer not known ' | : 2

= 194.  Deposits of Gondwana sequence belongs to S orlgm
| A) Marme - : - (B) Fluvm Marme
W1 Poviatile (D) Deltaic

(E) Answer not known

_195.- .-Talchir boulder beds are ef_ 3 : _

. (A) Marine origin (BWfGlacial origin
(©) : Aecolian origin s - (D) Fluvial origin
(E) Ahewer not known |
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196. ' The most prlmltwe life occur n Wthh system? :
e .(AMCuddapah G . (B) Dharwar
(O A_rchean e e (D). Vindhyan
' (E) Anlswer.not known e :

197. " In papaghanl group, the lower formation is namgd as

(A) Vempalle shales _' : ' (E Gulcheru Quartzn:e
(C) Nagri Quartz1te = e St (D) Cumbum shales
(E) Answer .n‘ot known 2 T

198. Bundelkhand Gnelss or Mysore Gneisses are as old as

| (AW%OO Million years ' (B) 1800 Mllhon years |
(©) 1600 Million years - (D). 1000 Million years
(E) Answer not known ' = bt

_ 199. C-hrom_ite' depoéi.ts in Tamil Nadu are associated with
' (A) Anorthosites of Kadavur | .
- B) Anbr_thos’it'es of S_ittémpundi
(C) Anorthosites of Chalkhills
oth B) and (C)

(E) Answer not known

~ 200. The whole suite of rocks of Swanmala1 in Tamil Nadu are charactemsed by
) (A%\Ta rich feldspars

(B) Ca rich feldspars

(C) Ca and Na rich feldspars

(D) Ba rich feldspars -

(E) Answer not known
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